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1 gdb —

1.1
Linux C C++ Fortran
gdb (GNU debugger)
1.2
0
zerodiv.c
#include <stdio.h>
int main()
{
int zero = 0;
int one = 1;
int quotient;
quotient = one / zero;
printf("%d\n", quotient);
return O;
+

[naota@freesia c]$ gcc zerodiv.c -o zerodiv
[naota@freesia c]$ ./zerodiv

(core )
[naota@freesia cl$




gdb

1.3

“zerodiv”
gdb
gee gt+ -g

[naota@freesia c]$ gcc -g zerodiv.c -o zerodiv
[naota@freesia cl]$ ./zerodiv
(core )

1.4 gdb
gdb
% gdb zerodiv
(gdb)
13 (gdb) 7 gdb
“run” ( 1)
1 “in main ()7
“zerodiv.c:9”
gdb “quit”
1.5 Emacs gdb
Emacs gdb
Esc-x compile Emacs
Emacs ‘make -k” BS
“gcc -g zerodiv.c -o zerodiv”
2



[naota@freesia c]$ gdb zerodiv
GNU gdb 5.0
Copyright 2000 Free Software Foundation, Inc.

GDB is free software, covered by the GNU General Public License, and you ar

welcome to change it and/or distribute copies of it under certain conditiof
Type "show copying" to see the conditioms.

There is absolutely no warranty for GDB. Type "show warranty" for details
This GDB was configured as "i386-redhat-linux"...

(gdb) run

Starting program: /home/naota/sit/2002/c/zerodiv

Program received signal SIGFPE, Arithmetic exception.
0x080483ea in main () at zerodiv.c:9

9 quotient = one / zero;

(gdb) quit

The program is running. Exit anyway? (y or n) y

e
LS.

[naota@freesia cl$

- /
1: gdb
Ctrl-X ¢ (
“Esc-x gdb” Emacs Emacs
“Run gdb (like this): gdb”
“zerodiv”
Emacs gdb “(gdb)”
run”
M=>77 ( 2)
gdb

gdb quit
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Type "show copying" to see the conditioms.

There is absolutely no warranty for GDB. Type "show warranty" for details
This GDB was configured as "i386-redhat-linux"...

(gdb) run

Starting program: /home/naota/sit/2002/c/zerodiv

Program received signal SIGFPE, Arithmetic exception.

0x080483ea in main () at zerodiv.c:9
(gdb)

[--]-EEE:*x-F1 *gud-zerodiv*
#include <stdio.h>

int main()

(Debugger:run Encoded-kbd)--L14--Bot---1

{
int zero = 0;
int one = 1;
int quotient;
=> quotient = one / zero;
printf ("%d\n", quotient);
[--]-EE-:---F1 =zerodiv.c (C Encoded-kbd) --L9--Top——-———-—————————71
- %
2: Emacs gdb
1.6
( ) C 4
(segmentation fault)
segfault.c

#include <stdio.h>

int main()

{

int *badpointer

0;

*badpointer 0;




return O;

}
p
[naota@freesia cl]$ gcc -g segfault.c -o segfault
[naota@freesia c]$ ./segfault
(core )
[naota@freesia cl]$
o
( ) gdb

“sum.c” 1 10
sum.c
#include <stdio.h>
int main()
{
int iii, nnn;
int sum = 0;
nnn = 10;
for (iii = 1; iii <= nnn; iii++) {
sum += iii;
}
printf("%d\n", sum);
return O;
}
gdb 44%77
/» gcc —g sum.c —o sum
% gdb sum
« (gdb) ” gdb
“preak”
“break main” “‘main” «

gdb



[naota@freesia c]$ gdb sum

GNU gdb 5.0

Copyright 2000 Free Software Foundation, Inc.

GDB is free software, covered by the GNU General Public License, and you are
welcome to change it and/or distribute copies of it under certain conditions.
Type "show copying" to see the conditions.

There is absolutely no warranty for GDB. Type "show warranty" for details.
This GDB was configured as "i386-redhat-linux"...

(gdb) break main

Breakpoint 1 at 0x80483e6: file sum.c, line 6.

(gdb) run

Starting program: /home/naota/sit/2002/c/sum

Breakpoint 1, main () at sum.c:6
6 int sum = O;

gdb) n

8 nnn = 10;

(gdb) n

9 for (iii = 1; iii <= nnn; iii++) {
(gdb) n

10 sum += iii;
(gdb) p iii

$1 =1

(gdb) p nnn

$2 = 10

(gdb) p sum

$3 =0

3:gdb n p

“IleXt” “n”

Emacs gdb
“=>77

next n 1

step S n

finish

continue

Lépri nt77
Mp??

p sum



LL$3 = 077 (4$ :77
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